WORKSHEET (2019-20)
CLASS X ENGLISH

Q1. Complete the paragraph that follows by choosing the correct option.

It is a fact that cleanliness (a) on mosquito breeding. Mosquitoes

(b) if there is no waterlogging. While sleeping we (c)

repellent and get our house sprayed with DDT. There is no need of saying that
we must wear shirts with full sleeves and full pants.

(a) (i) might ensure some check (ii) has ensured some check
(iii) ensure some check (iv) can ensure some check
(b) (i) can't breed (ii) don't breed
(iii) may not breed (iv) will not breed
(c) (i) must use mosquito (ii) may use mosquito
(iii) should use mosquito (iv) will use mosquito

Q2. Given below is a conversation between David and his friend, Meenu.
Complete the dialogue in any suitable way. Choose the correct option from
those given below.

David: Hello. Is this 268973677

Meenu: Yes. (a) ?
David: Can | talk to Meenu? | am her friend, David.

Meenu: David! It's Meenu. (b) ?
David: I'm calling from Indira Gandhi International airport. I'm here for a visit.
Meenu: That's great. (c) ?

David: | wanted to give you a surprise.
Meenu: When did you arrive? (d) ?

David: | just got here and I'm alone.



(a) (i) Who are you calling to? (ii) Whom do you speaking with?

(iii) Whom do speak to? (iv) Whom do you want to speak to?
(b) (i) Where are you calling from? (ii) Where from you are calling?
(iii) Where are you calling? (iv) From where you are calling?

(c) (i) Why you didn't let me know you were coming?
(i) Why didn't you let me know you coming?
(iii) Why you didn’t let me know you are coming?
(iv) Why didn't you let me know you were coming?

(d) (i) Is someone else accompanying you? (ii) Who are you accompanied?
(iii) Who you are with? (iv) Is someone else accompany you?

Q3. Complete the following passage by choosing the correct passive form of
the
verbs given in brackets from the alternatives given below the passage.

It (a) (decide) to construct a number of flyovers at main
intersections in the capital to ease the traffic flow. It (b) (hope) that
the problem of traffic jams at these intersections (c) (solve) to
a great extent.
(a) (i) is decided (ii) will be decided

(iii) has been decided (iv) is being decided
(b) (i) has been hoped (ii) was hoped

(iii) will be hoped (iv) is hoped
(c) (i) has been solved (ii) will be solved

(iii) was solved (iv) had been solved



